JFAU-121)—4'2022%2 80 (HEH#X)

BEF—LA TEL
S b FAX
NO F—L% INT1—SC | HEHBHFC-A| SCHFC KEFC Bi#ESC |mmvazr—uso| #IEFRESC |#EMHHSC RFC KEFFC-A| B | & | 5 | #5185 55| wxz| IEk
1 INT4—SC Yoo © 4 © © © © © © © 8o 1]25]|24] 0f24] 1
{ —-o0]0 - O|5 — 0|2 - 0|3 — 0|3 — 0]5 — 0|3 — 0]2 — 0O
N, ° [ o o ° [¢) N o
2 EJSAETFC_A o — 1 ol 1 — 1 o - 1 3 - 1 2 - 0)J]0 — 22 —-— 0]J]0 — 0]2 — O NN RN
3 SCH.FC 4 4 Kk © ° ° ° 4 i 5| 1| 3|18]21| 5] 16 2
0 — of1 — 1 7 — 0|38 — 1|2 — 0|5 — o0of2 — 1]0o — of1 — 2
[ ] O ( ] ( ] O [ ] O [ ] O
N XEFC o — 5|1 — 0|0 — 7 el o — 2|1 — 0|0 — 1 2 — 00 — 2|12 — 1 NN NN
5 E&SC * * ¢ © Fote ¢ ¢ 4 i © 26| 1| 7]5]17]-12] 10
o — 2|1 — 3|1 — 3|12 — 0 0o — 410 — 1 o — 0]J]0 — 41 — O
6 |#ED1=A4—/LSC ¢ hd ¢ ¢ © Yo ° 4 4 i 2(s5]2|8|11]16]-5]8
o — 3j]0 — 2|0 — 2]0 — 1 4 — 0 2 — 03 — 3812 — 2]0 — 3
N [ ] O ( ] O O ( ] [ ] O O
! *E}E}*SC o — 32 - o0of0 — 5|1 — 0]1 — 0JO0O — 2 pox 1 - 213 - 2|12 — 1 S I N R R
N [ ] [ ] [ ] [ ] A A O O [ ]
s *ﬁ},EJ'J\:E)&)SC o — 50 — 2|1 — 2]0 — 2|0 — 0|3 — 3|2 — 1 pox 2 — 00 — 2 G N R R R R
9 JRFC * 4 4 © © 4 ¢ ¢ Yo i 243 of10]12[-2]7
o - 30 - 0oy0 - 0|2 — 0|4 — 0|2 — 2|2 — 3|0 — 2 0o - 2
10 KEFRFC-A i i © i i © i © © ok 4| 5|o]12f11]10[1]5
o — 2j]0 — 2|2 — 1 1 — 210 — 1 3 — 0|1 — 2|2 — 0]2 — 0
XEBRTT OTETESDHRALTFEL.
S 9 A 11 B (A ZEAXEIIVE  8BE AEGDLY)BE(EEF)
NO FuoAD ¥ E YV — <A@ > FE HES EES
1 13:30 tEEESC 1 1-] 2 HEMNEHHSC NTa— | NFq— KEFR
2 14:10 INT4—SC 2 (-] 0 KEFFC-A SazA—)|CazA—1] ZEE
3 14:50 tEZEESC 0 |-|] 2 R 1=4—)LSC KEFR KEFR )
4 15:30 BEMEHHSC 0[-]5 INT4—SC RE EE  |CazA—IL
5 16:10 KEFFC-A 3 (-] 0 R 1=A4—)LSC b hHsH INTA—
NO FuoAD ¥ & Y — 4 <B@E > FE HES EES
1 13:30 HE HFFFC-A 3 |- 1 2iEsc [ [ SCH
2 14:10 KEFC 0 |-| 7 SCH.FC E E HEHE
3 14:50 HE HFFFC-A 01|-]0 JRFC SCH SCH KE
4 15:30 2ESC 2 |-]1 0 ANEFC HEHE | HIHEH [
5 16:10 SCH.FC 0 (-] O [RFC KE KE 2%
S 9 H 23 H (#) LAKSZYRR—ILIN—) BE AmCaz+—LBEKER)
NO *uHto b — 2 < A@m > EX3 HES HES
1 8:30 HEHEFC-A 2 1-10 HEMEHSC Sazt—n|azr—n| scH
2 9:10 SCH.FC 2 [-| O BERY1=AH—)LSC HEHAF | HEHEH )
3 9:50 -
4 10:30 2iEsc 0 |- INT4—SC SCH SCH AEF
5 11:10 KEFFC-A 2 |- 1 SCH.FC NTF1— | NFq— 2%
NO *uHto ¥ E ! — 47 < B @A > FE HES HES
1 8:30 -
2 9:10 INT4—SC 3 |-]0 [RFC KER AEFR b
3 9:50 HEHEFC-A 2 -1 0 KEFFC-A R B INTA—
4 10:30 BEMBOHSC 2 1-| 0 [RFC XRB AE |Paz=4—n
5 11:10 AKEFC 1]1-]10 R4 —)LSC ) ) R
sy—4 9 B 25 H (H) LAKZZYbR—IL/A—) BE AE(KE)BE(HSHIH)
NO FyoAD ¥ & Y — J <A@ > *E k= k=S
1 11:50 HEMEHHSC 0 (-] 2 XEFFC-A Sazd—i| NFg— RE
2 12:30 INT4—SC 3 |-]10 BEDa1=4—)LSC ST ST REF
13:10 KEFFC-A 1 (- 2 RFEESC NTF4— | NFy— |[SazHt—i
NO FuoAD ¥ £ Jy — < B@AE > FE k= k=
1 11:50 AKEFC 0 (-] 2 [RFC SCH B2 HEHE
2 12:30 BiESc 1 (- 3 SCH.FC & & KB
3 13:10 HEHFFFC-A 0 (-] 1 KEFC B 2% SCH




S 10 A 1 H (1) LAKZZYbR—IL/A—H #®HE  HEZRESC 15-5-15
NO Fvot7 ¥ E U — J IE | B | 2B
1 12:50 #BIEFEESC [ 1 [-] 0] XEFC BB B FEH

S 10 A 2 B (H hEI—4 BE ZEE- R 15-5-15
NO EXE ¥ E U — 7 < A@AE > EX EHES EHES
1 9:30 HRAEHHSC 1 |- 2 SCH.FC WEFE | BEZRE =
2 10:10 1&IEEESC 3 |- 2 [RFC HEHF | HEHF SCH
3 10:50 HEHFFFC-A 1 |- 1 SCH.FC [ [ HIERE
4 11:30 2iESc 0 |- 1 1EEZERESC SCH SCH azF—
5 12:10 HEHFFFC-A 2 (-] 0 BED1=A4—)LSC 2% 2% HBIERE
NO EXE ¥ E U — 2 < Bm@AE > EE3 HES HES
1 9:30 INF4—SC 5 |- 0 AEFC Sazt—n|Tazt—u| sEod
2 10:10 2iESc 1 (-] 0 RKEFFC-A NF— | NFa— A2
3 10:50 BED1=4—)LSC 3 |- 3 EEMOSC KER KER 2%
4 11:30 -
5 12:10 -

sy—4J 108 9 8 (A FERBERITSUE #E RFEE

NO EV T ¥ E ) — < A@|E > FE HES HES
1 9:00 2iEsc 0 |-| 4 [RFC NTa— | NTq— | BEZRE
3 9:50 1EEFEESC 0 |-| 3 INT4—SC R R B

S 10 B 10 H (H) AENBETSUR 8% AHE(SCH)BEUATA4—)
NO EXE ¥ E ) — 7 < AR = HES HES
1 9:30 KEFC 2 |- 1 KEFFC-A NTF14— | N"Fq— SCH
2 10:10 INTF4—SC o[-] o0 SCH.FC KEFR KEFR KE
3 10:50 RKEFFC-A 2 |- 0 JRFC SCH SCH NF4—
4 11:30 HEMEHHSC 0 |-| 2 AREFC [ [ KEFR
5 12:10 1&EEESC 0 (-] 5 SCH.FC KE KE T
NO FuoAD ¥ E U — < B @ > = HES HES
1 9:30 BED1=4—)LSC 2 |- 2 ["FC 2% 2% EE
2 10:10 HEMEHHSC 0|-| O EESC HEHH | bEHH [
3 10:50 1#RFERESC 2 |- 0 HEHFFFC-A MEsH rEDd  [SazA—i
4 11:30 B:ESC 0 |-| 4 BRa=A4—)LSC FE FE HEHE
5 12:10 HEHEFFC-A 0 [-] 1 INT4—SC SazA—plTazr—| ==




